The reader’s interpretation of the application of the original signal to point X, assuming the signal source has very low resistance.

                            6 V DC


                                                             R1
                                                                                                  Y                                   VOUT

                            Original signal             X

                                                  

                                                             R2
                                  0 V


Another interpretation of the application of the original signal to point X, assuming the signal source has very low resistance.

                            6 V DC


                                                             R1
                                                                                                  Y                                   VOUT

                                                                 X
                             Original signal

                                                  

                                                             R2

                                  0 V


In this case the answers to Q’s 3, 4 and 5 in the solutions are correct. What is your opinion?

